VMHOXeHHne JCCATHYHBIX 3HAKOB Ha CTCIICHDb ACCATU

5,305 x 10000 =

5,991 x 100 =

4,496 x 100000 =

3,259 x 10 =

1,954 x 100000 =

5,342 x 1000 =

2,787 x 100 =

4,08 x 1000000 =

10, 965 x 1000000 =

6, 005 x 10000 =

Jara: Orenka:

1,615 %10 =

8,028 x 1000 =

9,204 x 1000 =

5,531 x 10 =

2,124 x 1000000 =

2,971 x 10 =

5, 166 x 10000 =

10,278 x 10 =

6,024 x 100 =

3,919 x 10000 =
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VYMHOXEHHe JCCATHYHBIX 3HAKOB Ha CTCIICHD ACCATU

Nwms:

5,305 x 10000 = 53050

5,991 x 100 = 599.1

4,496 x 100000 = 449600

3,259 x 10 =32.59

1,954 x 100000 = 195400

5,342 x 1000 = 5342

2,787 %100 = 278.7

4, 08 x 1000000 = 4080000

10, 965 x 1000000 = 10965000

6, 005 x 10000 = 60050

Jlara: Orenka:

1,615 x10=16.15

8,028 x 1000 = 8028

9,204 x 1000 = 9204

5,531 x 10 =55.31

2,124 x 1000000 = 2124000

2,971 x 10 = 29.71

5,166 x 10000 = 51660

10,278 x 10 = 102.78

6,024 x 100 = 602.4

3,919 x 10000 = 39190
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